Purchase Order

Page 1 of 4 06/01/2025 13:59:56

TRAVEL FOOD SERVICES KOLKATA PRIVATE LIMITED

Order Number : TFSKPL/PO/24-25/000077

Supplier Detail SHAH ENTERPRISES Supplier Code : RV242523027 [V0001148]	Shipped Location TRAVEL FOOD SERVICES KOLKATA PRIVATE LIMITED Kolkata Airport	Invoice Location TRAVEL FOOD SERVICES KOLKATA PRIVATE LIMITED Kolkata Airport
(V0001148)	N.S.C.B. INTERNATIONAL AIRPORT VIP Road, Kazi Nazrul Islam Sarani, Dum Dum, Kolkata, West Bengal, 700052	83, Gate No. 3C, N.S.C.B. International Airport Vip Road, Kazi Nazrul Islam Sarani, Dum Dum, Kolkata, West Bengal, 700052 GSTIN No : 19AAECT8193L1ZJ
PAN No : AYHPS0274P Supplier GST No : 27AYHPS0274P1ZQ Supplier Contact No : Contact Person Name : SABIR ALI SHAH Supplier Email : shahenterindia@gmail.com	Cost Center Code : 90310033 Cost Center Name : KOL ABC BAR Project ID : 0 PO Category : Capex NSO	Payment Term : Advance - 30% along with the work order. Final Bill - balanced up to 65% after work completion certification & Submission of Tax Invoice. Retention - 5% up to the DLP of 6 Months. PO Creation Date : 08/07/2024 PO Approval Date : 18/07/2024 PO Currency : INR Buyer Name : Binu Balachandran

Sr.No	Item Code	HSN\SAC Code	Item Name	Item Description	Pur. Grp.	Qty	UOM	Basic Rate	Dis%	Net Rate	Total Amount	IGST %	Gross Total Amount
1		998391	ID	ID	B01	1.00		1,113,165.00	2.00	1,090,901.70	1,090,901.70	18	1,287,264.01
	Total Qty : 1.00												
	Total Basic PO Amount										1,090,901.70		
	Total Other Charges												
	IGST Amount										196,362		
Amount	Amount In Words: Rupees Twelve Lakh Eighty Seven Thousand Two Hundred Sixty Four And One Paisa Only Grand Total PO Amount								1,287,264.01				
Remarks : .													
Standard Terms And Condition :													
Completion / Delivery TimeLine : 21 days													
Mobilization Date :													
Defects	Defects Liability Period : 6 months												

Retention Percentage : 5

Escalation Buyer Detail						
Name	Mobile No.	Email - ID				
Mrunal Joshi	8390813805	mrunal.joshi@k-corp.in				
Mrunal Joshi	8390813805	mrunal.joshi@k-corp.in				

Disclaimer :

Point 1: Unless informed to us it is assumed that you are not registered as MSME with the respective government authority. If you have not yet provided the MSME details along with proof kindly provide the same at the earliest. Alternatively once you get registered then provide us relevant proof to update our records.

Point 2 : Supplier is requested to acknowledge or decline the order within 24 hours or else it would be considered as accepted.

ltem(Code : Name : ^{ID}						
Sr No	Item Code	Item Name	UOM	Remarks	Quantity	Supplier Rate	Amount
1	2	MS Framing - Providing fixing an ms section 50x50mm structure for the specified counter as per design.	Rft		313.00	175.00	54,775.00
2		Brand signage in closed Metal edges and front lit. Color temperature of Light will be 4000k.	LS		1.00	0.00	0.00
3	4	Brick look ceramic Tile Cladding - (COUNTER FASCIA) Providing and fixing in Ceramic tile of approved make shade on any surface as per details in drawing and Over 12 mm thk bed of cement mortar 1 3 (cement fine sand) with thick grey cement slurry, with hairline joints using cement grout. The job includ cutting of tiles making smooth edges wherever required. The work shall also include cost of materials, wastages, labour, all lead and lift at all levels, loading and unloading, transportation, curing etc. and all other incidental charges etc. Complete as specified in the drawing to the satisfaction of the Site Engineer. Ceramic wall tile (Printed) With customized line work Make -Ceramic wall tile brick red	SqFt		625.00	350.00	218,750.00
4	3	Granite at the table top Providing fixing a 35-38mm thick granite surface as the top surface of the counter, applied over the HDHMR board. Ensure the HDHMR board surface is clean, dry, and free from any dirt, dust, or imperfections that may affect the adhesion of the corian. Remove any adhesive residues or smudges from the corian surface, leaving it clean.	SqFt		133.00	850.00	113,050.00
5		GENERAL NOTES			0.00	0.00	0.00
6		25mm dia MS rods finished in black with powder coating as per finishing schedule to be fixed in front and at back of perforated sheet to provide support from bending etc. and these rods are fixed to 75mm thk ms box at the rear side, refer to detail drawing	Rft		232.00	150.00	34,800.00
7		MS Structure - Providing and Fixing 50X50mm MS section framing for Bar counter portal structure. Welding, screwing and joining from each other, floor,Complete partition framing from MS sections. Finished in black with powder coating as per finishes schedule.	Rft		157.00	250.00	39,250.00
8		All MS frame shall be Duco paint at site and consider on the cost			0.00	0.00	0.00
9		ALL COMPONENTS OF CARPENTRY (PLYWOOD GYPSUM BOARD) TO BE OF 1 HR. FIRE RATING.			0.00	0.00	0.00
10	b.1	Vinyl Flooring - Providing laying grey vinyl flooring, 6-10mm thick of 1st quality laid on floor- Customized tile with base rate of Rs. 0 - per sqft	Sqft		1,398.00	110.00	153,780.00
11	b.2	Guard Rail - Providing fixing SS 304 - 25mm dia SS guard rail to be fixed on the floor ,you II need appropriate hardware like screws or bolts , drill,and finish in original ss chrome finish.	Rft		72.00	850.00	61,200.00
12		75mm thk box of MS Sheet base for Signage finished in black with powder coating as ID schedule on all sides, standing from MS structure of bar counter and supported by 50x50mm MS section as per detail drawing.	sqft		69.00	800.00	55,200.00

13	1	BACK ENTRY DOOR - Wicket Door - Providing fixing in position 1200mm high Single Leaf Wicket Door made up of 38mm thick solid wood shutter of approved make thickness, Inner outer sidefinished with polished and outer, finish including providing fixing 12 mm thk Wooden lipping all around, including P F of Door frame made out of CP Teak Ash wood or equivalent with melamine polish finish. Size of the frame approximate 175mm wide X 50mm thick. Applicable hardware s such as s s handles, floor spring and any other hardware etc required to complete the related works as per design detail. door hardware make consider Dorma	NOS		1.00	15,000.00	15,000.00
		Hafele Ozon equilient.					
14		MS perforated sheet behind the acrylic signage in wave pattern fixed to 75mm thk ms box and supported by	Sqft		236.00	850.00	200,600.00
15	D	BACK ENTRY DOOR			0.00	0.00	0.00
16		All MS frame shall be 14 Gauge			0.00	0.00	0.00
17	1	HDHMR board base framing Cut and shape the 18mm thk HDHMR board to match the design and dimensions specified in the drawings or as directed by the site engineer. Consider factors such as the shape, thickness, and size of the table top. Consider 18mm HDHMR board to make the structure and 10-12mm bend ply to make curve surfaces on top 6mm MDF.	SqFt		758.00	220.00	166,760.00
18	С	Bar Counter MS Portal			0.00	0.00	0.00
		Total :	3,995.00		1,113,165.00		